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Y | T IO B % Ui e a1e 39 dae H foRdl ot /et
o feram =12t fepa s | e ferg srsel Soerd B
Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and ensure
that:
- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for replacement
of Question Booklet(QB) and OMR Answer Sheet. No claim/
objection in this regard will be entertained after five minutes of
start of examination, candidate will be liable for the same.

2. STHSIR IA-U=h & UL fau T gy fdst g
Read all instructions on the reverse of OMR Answer Sheet.

3. SNTHSR IT—TF% U had Al Sidl Q15 U= 61 TANT B | HUT,
HITHSTT IR | AT U X BT 3T bl qel & §
7|
On OMR Answer Sheet, use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet.

4. i fordll 9T % foTg we & arfres Iav oiferd foRd < € o o8 o
AL AT AR
If more than one response is marked for a question, it would be
treated as wrong answer.

5. 9% TAd SR B LT &k BT 1/3 W HreT SR | T 39X °
A S5 I AT FopEl U9 & T & 3feh S 9 51
1/3 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).
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3t (D) Suged SO @ wafuq ¥ ofR wiaat faswer/men “(E)’
‘STANT ueT ¥ w3
Each question has five options/circles. First four options/circles
(A), (B), (C) and (D) are related to appropriate answer and
fifth option/circle ‘(E)’ is related to ‘Question not attempted’.
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A Te gRaw
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To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate does not want to answer any question then the
fifth option/circle ‘(E)’ should be darkened.

8. afs u fashed & 9 @15 oY forsbed /M T T2t fepanm mm ot We ht
1/39TT e Te feram ST
1/3 part of the marks will be deducted for the questions, if none
of the option/circle are darkened.
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TN fema T A I8 Then % fu sty =it w1 fear s
If a candidate leaves more than 10 percent questions or does
not darken any of the five options, he/she will be disqualified
for the exam.
10. eyl BT Welieh Wl o o7 b & o Ueh ferehet /Tl 9T & o1 181
e B 3 R 10 foe arffert o s |
Candidate will be given 10 minutes extra to make sure, if he/
she has filled up any one option/circle for each questions.
11. T 95 o F&wT AT SfIST FhTT § YR0T AT AT Thid ol fopdlt ot
THTT Dl STRASE/TAN &, A SIS TEBI0T Bl i AT S|
If there is any sort of ambiguity / mistake either of printing or
factual in nature in Hindi or English version of questions, then
the English Version will be treated as final.
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T STANT W afta § | afe et ot & are U e wfoefia
O O TS 1 S8 faes FRTER wd Hian wl S|
Use of Mobile Phone / Bluetooth Device or any other electronic
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prohibited material is found with any candidate, strict action
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Warning : If a candidate is found copying or using unfair means or
if any unauthorized material is found in his/her possession, F.I.LR
will be lodged against him/her in the Police Station and he/she would
be liable to be prosecuted under State Public Examination (Measures
for Preventions of Unfair Means in Recruitment) Act. 2022 and
Amendment Act 2023. The act has provisions of imprisonment of 10
years to life and fine up to ¥ 1 crore. Board may also debar him/her
permanently from all future examinations conducted by the Board.
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In a thyrite lightning arrester the resistance

(A) Varies linearly with the applied voltage.
(B) Increases with the applied voltage.

(C) Increases linearly with the applied voltage.

(D) Is high at low current and low at high

current.
(E)  Question not attempted
RIEECAS | U ISR B TR
(A) T ATCSS o °Td {age €9 § Faedl ol
(B) T dlcest o HTY T 2
(C) W] AIeeS o |1y {Rge &9 ¥ el o
(D) ¥ IR 9T 3o I I 9 9 HT ST 2
() qaid o

Ring main distribution system is preferred to

radial distribution system, because

(A) Voltage drop in the feeder is less

(B) Power factor is high

(C) Itis less expensive

(D) Voltage drop in the feeder is very high

(E)  Question not attempted

far 9 forawor worreft sh1 Wfeet forawor gormeft € dgae
HIHT ST §, AT

(A) ST H el S FH EraT 8

(B)  UTeR et 31fureh BT €

(C) IE 0 @i BT &

(D) et H dicest § fivmae aga sfie 2t &
(E) gaid g%

E5] @

According to Indian Electricity Rule, the
maximum load permitted on a power sub-circuit

outlet is:
(A) 800 Watt (B) 1500 Watt
(C) 3000 Watt (D) 1000 Watt

(E)  Question not attempted

R forera T o T8, uTer #9-afdhe 3Teecie
T STAA SAfTFIH IS 2

(A) 80031 (B) 1500 a1
(C) 3000d1E (D) 1000 dTE
(E) Fqdia o=

According to Indian Electricity Rule-48, the
maximum permissible value of leakage current
that should not exceed beyond times of

full load current.

R fogra fom-48 o Srgam, ofiehs i i

Hferehdw Tt 7 €, S gl e i
TAT & 3feres 7 2T = ey

(A)  1/1000 (B)  1/2000
(C)  1/5000 (D) 1/10000

(E)  Question not attempted / 3T )

[ Contd...



What should be the value of earth resistance for

large power station?

TS TR €I % ¢ of wfelrer =60 7 @ g
Irfew?

(A) 1Q B) 050

© 20 D) 50

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

The cheap & temporary system of internal wiring
is:

(A) Conduit wiring

(B) Cleat wiring

(C) CTS or TRS wiring

(D) Casing-capping wiring

(E)  Question not attempted

FTATh ST ot Tt ST STEAml yorred! &:
(A) hgge amteT

(B)  efte arAfaT

(C) HIeug 31 FeTed AT

(D)  HfET-HfuT amfor

(E) gaidwd

Total flux required in any lighting scheme

depends inversely upon:

(A) Tllumination

(B) Surface area

(C) Utilization factor

(D) Space/Height ratio

(E)  Question not attempted

Toreft +ft TeTeT ST H STTawsh el HAMETE (Feard)
Tt w9 @ 30 W freft ar 2

(A) wEIty

(B) Tde &

(C) TN ITH

(D) T/ 3T
() Aqaid g

E5] @

Which of the following furnace suffers from

pinch effect?

(A) Resistance furnace

(B) Core type induction furnace

(C) Coreless induction furnace

(D) Vertical core type induction furnace

(E)  Question not attempted

frefafiaa & & 1 @ w2t g (=) s &
TET 27

(A) wiag Wt

(B) RIS YT Y01 2T

(C)  7hre Tea ST et

(D) afdehet I YT IT0T HET
(E) Ffdita o=

Magnetic materials are heated with the help of
(A) Hysteresis Loss

(B) Electric Arc

(C) Electric Current

(D) Radiation

(E)  Question not attempted

RCERCRIEIRILICC IR T IS R e
HETIAT ot STt 22

(A) Sfre(feriea ) gw

B) fagd=m
(C) ferega amr
(D) faferor

(E) orgafaus

[ Contd...



10 The Maximum torque of DC series motor is

limited by:

(A) Type of brush of DC motor
(B) Commutation

(C) Speed

(D)  Armature current

(E)  Question not attempted

Zreft HYe 1 tfershan 2feh foreer wifira grar 22
(A) T 91 o 5191 1 JHR

®) fafm

(C) T

(D)  STH=R GrT

() qaid g

11  Asolenoidis 1m long and 3 cm in mean diameter.
It has five layers of windings of 100 turns each
and carries a current of SA. What is the magnetic

field at its centre?

Tk TATTIeRT 1 Hiet osft 3 3 |t o7tad =g it
B1 388 Y% | 100 B aTed! T 90§ S ETH 5A
T JAT(Ed Bl ol $Hoh g T GeehIT &1 T &7
(A) 3.14x1072T

(B) 0314x1072T

(C) 314x1072T

(D) 25%x1073T

(E)  Question not attempted / 31':5'&?[ 94

E5] @

12

Match List I with List IT
List I List 11
dH = M I.  Ampere’s law
4mr
b. I= fHdl II. Biot-Savart law
c. fB.dS= 0 ITl. Faraday’s law
d. emf= ]{ EdL  1V. Gauss’s law for
magnetic field
Tl 11 =i 119 ghfd
a1 T I
dr =19LSN0 | e e
4nr
b I=fHa’l 1. SmE-rae e

c. fB.dS= 0 111, e =1 fm

IV. Sy &= % forg

o,
3
h
-
=
S

Tig 1 e

Choose the correct answer from the options given

below:

<R o e feemett B & e S
(A) a-ll, b-III, c-1V, d-I

(B) a-II, b-I, c-1V, d-1IT

(©) a-l, b-IL, c-111, d-IV

(D) a-II, b-1V, c-1, d-11

(E)  Question not attempted / 3T aug

[ Contd...



13 Which element shows the property of diamagnetic | 15 A coil has 2000 turns. A current of 2A causes a
flux 4 mWb to link the coil. What is the self-

materials?
inductance of the coil?
A) Tron B) Copper . . - ’
*) (®)  Copp e et 2000 9 F FEe § 24 F A4 mWh
(C) Calcium (D)  Aluminium T YFeTeR I B 2 FSell T T-3Thed HTE?
(A) 2H (B) 4H
(E)  Question not attempted
(C) ©6H (D) 1H

SRR T (2 ) R (E)  Question not attempted / 3TIANT I

GG R
) e (B) ST 16 In star connection of 3-phase system, the line
Itage i times of phase voltage.
(C) Ffewam (D) Qgriﬁﬁw voltageis_~ tumeso p’ ase voltage
35S U 3T TR e H, ATET aledst
(E) igaia o N -
A V2 B) 1//2
© 3 D) 13

14  The unit of mmf is normally taken as
(E)  Question not attempted / 3T B

(A) Weber

(B) Weber per metre? 17 A low power factor of the circuit means that it

will
(C) Ampere turns
(A) draw more active power

(D)  Ampere turns per metre (B) draw less line current

(E)  Question not attempted (C)  draw more reactive power

T i T wT S T (D) cause less voltage drop in the line
(E)  Question not attempted

®) ¥ s o & ik T0res &1 37 & T e

(B)  deT¥iq Hie? (A) 31 il wiRe SiEm

©) R (B) Y AT i Giemm

(C) e afafsramsiier sifs wiemm
(D) TS B &Y Fieest S19 T 0T T

(E) qaid 9
E5] @ 5 [ Contd...

(D) TR 2 i Hiex

(E) gaid o=




18

19

Which of the following statement is not true for a

synchronous generator?

(A) Stationary armature & rotating field
system is used

(B) Laminated steel sheet are used in stator &
rotor

(C)  Armature winding is distributed winding

(D) Salient type rotor is used in high speed
turbine driven generator

(E)  Question not attempted

frefefaa & @ i a1 e g st & foe

SEEGIGH

(A) TR =R 3R g & YOIl 1 ST
IERIEIGIN

(B) T IR U ¥ At Tt ¥ie i 39
[ERIEIGIN

(C) =R arefen foafia arsfén 2

(D) =TI TS ATfeId et H Sfiie Y
3 T T SYANT foraT STt 21

(E) 3rgaid o

In synchronous machine short pitch coil and

distributed winding are used to

(A) Increase the magnitude of emf induced

(B) To make the generator emf more sinusoidal

(C) To increase the magnitude as well as make
the wave shape of induced emf more
sinusoidal.

(D) Increase the distribution factor

(E)  Question not attempted

qeelferen ( THspig ) =i o Y Sfaet heett

( sTl?E U= &ige ) 1R foafa aﬁ%rr £l :-rq?ﬂﬂ [E2)

ST &

(A)  Uftd ST % TRHATOr HT TEH o forg

(B) SIS SUHTS ! AT ATeTEEsd a9 &
fere

(C) UfmTor Y S o |r-|Ty i SuHeE it

TUT TR &I AR AEAERSd S 6
fa

(D) feraor ore At s % fere

(E) Igaid g

E5] @

20

21

The thermal efficiency and electrical efficiency
of a steam power station are 30% and 92%
respectively. The overall efficiency of the station

is -

T 19 ool st it gerar S fogd dardn

SRETT: 30% 3T 92% Bl T <l §9Y &7dT &
(A)  55.8% (B) 27.6%
(C)  62.8% (D)  45%

(E)  Question not attempted / 3T T 9q

Large size steam plants and nuclear plants are

suitable for

(A) Peak Loads

(B) Base Loads

(C) Intermediate Loads

(D) Both Peak and Base Loads

(E)  Question not attempted

TS AT o AT FA ST ] G T o fog
EAREI

(A) dHewdrs
(B) dEdIS
(C) IerHifewzae

(D) ik 3R o AIS gHT

(E) 3fild o=
[ Contd...



22

23

As the load factor of a power plant increases, the

cost per kWh of energy generated
(A) Increases

(B) Decreases

(C) May increase or decrecase
(D) Remain the same

(E)  Question not attempted

A9 fersrelt g9 1 TS heed Jgdr ®, Sared

Folt bl fd ferettae sier amra
(A) wedtd
(B) wedt®

(C) &g Gehdl € AT T Hehell &
(D) TR

() 1aid 9

A generating station has a maximum demand of
20 MW and connected load of 40 MW. The
generated units are 4.36 x 107 per annum. The

demand factor is:

T S (ST ) T AT Al AT 20
AMETE ® 3N g i€ 40 ETE Bl Icarfed
THTSAT T a9 4.36 x 107 2| W T[0Teh 2:

(A) 2 B) 12
) 23 D) 173

(E)  Question not attempted / 34333'&?[ Iq

E5] @

24

25

The sensitivity of a galvanometer is 60 division/
ampere. When a shunt is used, the sensitivity
becomes 10 divisions/ampere. Ifthe galvanometer

resistance is 20 Q2, the value of shunt is

TredqIHTeX T Haesiiarar 60 fedisH/ardar 81 Sie
Y H IWM TR AT, Edednfierdr
10 Teas/ardtaR B STt 21 Ffe Aeamier Tfaig

20Q 8, AITCHANE

(A) 150 (B) 20 Q

© 50 (D) 40

(E)  Question not attempted / 3T Ty

A moving coil galvanometer of resistance 25
is connected to a source of e.m.f. 2V with a
resistance of 3 k Q. Full scale deflection of 30 in
unit is obtained. When 3 kQ resistance is
replaced by R, the deflection becomes 20 units.

The value of R is approximately

25 Q i T Teh =l FUST TeadIHiet 3 kO
S ATet 2V o dTeeh sTet < i | g7 81 90
e oK for&iquT 30 SeRTS STH BIAT 21 99 3 k Q Wil
I R & Wit foram Sar &, @t fagiur 20 TS &

ST 21 R 1 HHE oTHT
(A) 23kQ (B) 4.2kQ
(C) 3.8kQ (D) 45kQ

(E)  Question not attempted / 3T Ay
[ Contd...



26

27

Which of the following is likely to have the

largest resistance?

(A) Moving coil galvanometer
(B) Voltmeter of range 10 V
(C) Ammeter of range 1 A

(D) A copper wire of length 1 m and diameter

3 mm

(E)  Question not attempted

frfafga & @ foreer wfaty ga 31fe g9 &
T 27

(A) I P eI

(B) 10 V 9IH &I dlceHIET

(C) 1 A UUH %I THIKX

(D) 1 i waTs 3R 3 Tyt =ame arett Ue diel
SIS

(E) Ffaita g

The back EMF in a D.C. motor opposes the
supply voltage. This is explained by...

(A) Faraday’s laws of

induction

electromagnetic

(B) Lenz’slaw
(C) Fleming’s left hand rule
(D) Fleming’s right hand rule

(E)  Question not attempted

ST, A o S.UH.UE. Yfd dleest o forg T
& € THeh 5 QUSRI AT E...

(A) e % T Fraehi ST o fem
(B) i fam

(C) TATHT & STt 1Y ol form

(D) TATHT S ST 8T T =

(E) 3rgaid o

E5] @

28

29

Which among the following is the most suitable

material for making a commutator?
(A) Cast steel (B) Copper
(C) Castiron (D) Carbon
(E)  Question not attempted

e 4 @ = i it R 3 % foe ged

ST 2?2
(A) Tddl & (B) diaT
(C) @Adf arer (D) e

(E) Igaid e

After a shunt motor is up to speed, the speed may

be increased by:

(A) increasing field circuit resistance

(B) decreasing field circuit resistance
(C) increasing armature circuit resistance
(D) reducing the load

(E)  Question not attempted

/2 | T T TS 6 G, Tl alent §

ST ST GohelT &

(A) hice Hiche Ffiier i gt
(B) hiee Hfthe WfoRier sl &1 ik
(C)  ATH=R "fche Ifarer =l SgTat
(D) IS &l &H Fh

(E) gaid 9%
[ Contd...



30

31

Mira Bai one of the saints of Bhakti movement

was born in and married in
a. Mewar b. Marwar
c. Merta d. Maurvi

(A) aand b respectively
(B) dand b respectively
(C) cand arespectively
(D) b and c respectively

(E)  Question not attempted

SlieIGREER AR IR s o S
HEAT AT SR IHfqae _ Hgsm o

a. HAE b. HARETE

c. Hedl d.  HEEt

(A) TRHI: a AR b
(B) HEST: d 3 b
(C) ThEST: ¢ 3 a
(D) HEST: b3 ¢
(E) SIgaia d

Pichhvayi painting is associated with which

school of painting?
(A) Kishangarh (B) Bundi
(C) Kota (D) Nathdwara

(E)  Question not attempted

TueaTs femrenet forg femrenetr el @ gwifia 22
(A) T (B) St
(C) =T (D) T

(E) Iaiaug

E5] @

32

33

34

‘Rangdi’ and ‘Neemadi’ are subdialects of which
Rajasthani dialect?

(A) Shekhawati (B) Nagadi
(C) Malawi (D) Marwari

(E)  Question not attempted

3

(A) I@EET (B) TS
(C) dHrerat (D) HRATS!
(E)  3fmild o=

To which category of instruments, does the

Bhapang belong?
(A) Avnadya (B) Ghan
(C) Tat (D)  Sushir

(E)  Question not attempted

WOIT TR SIOTt o ST I3 | SATdT 22
(A) 3T (B) =
(€) @ (D) ¥
(E) gaid 9

In Rao Jodhaji’s time the first
(Choose the most

appropriate option from below)

was

constructed in Jodhpur.

(A) Pond (Talaab)
(B) Lake (Jheel)
(C)  Stepwell (Baori)
(D)  Pool (Nadi)

(E)  Question not attempted

T ST o T A A A qgAr 6
formior garm o (R o 9 et 3ok fershed =)
EIR]

T (T

(A) drere (®)
(C) @mEet D)

(E) 31aid 9
[ Contd...



35

36

Overwhelmed by the beauty of which fort did the
British historian James Tod say that if he was

offered a jagir in Rajasthan, he would choose

fort.
(A) Bhainsrodgarh
(B)  Chittorgarh
(C) Mehrangarh
(D)  Junagarh
(E)  Question not attempted

form forct 1 Tagedl & Ifin@ e fafem
Sfaeret S e 3 et o foh o 32 T |

SRR e o s SRt ok el
(A)  FeleTe (B) friteTg

(C) HewTTE (D) SETE

(E) 3rgaiid 9

Name the person who established the ‘Gramotthan

Vidyapeeth® in Rajasthan.
(A)
(B)
©)
D)
(E)

39 Tk I A9 Fd1ST 58 TSEAE § UM
IEEIRIEREIRINEICA

Pt. Jhabarmal Sharma
Swami Keshavanand
Acharya Tulsi
Acharya Naresh Muni

Question not attempted

EREICICERILI]
Tt e
AT e
A= e g
IR 99

(A)
()
©
(D)
(E)

E5] @

10

37

38

39

In which year did the Princely state of Jaipur sign

the subsidiary alliance?

S fered o e |f W o o gwaner e
7

(A) 1817 (B) 1818
(C) 1819 (D) 1820
(E)  Question not attempted / 3T B

In which year was the Praja Mandal established

in Bundi?

et o ST Hee st EToT fohe a g ot
(A) 1931 (B) 1939

(C) 1940 (D) 1941

(E)  Question not attempted / ST T4

Maximum efficiency of a transformer is obtained

at a load when —

(A) Core loss becomes the minimum

(B) Copper loss becomes the minimum

(C) Core loss becomes negligible

(D) Copper loss becomes equal to core loss
(E)  Question not attempted

Tordll gL T TfereRan g&rdT, i W a9 99
B & el -

(A)  hIS B =AaH & STt &
(B) W &I =AaH &I STt &
(C)  ohIg &I 7109 & STt &
(D) TR hIg BT o ST &l STt &
(E) 1gaid o=
[ Contd...



40 A 110/220V transformer is supplied with 110V, | 42 The no-load current of a transformer is-

50Hz supply to its low voltage side. It is desired (A) The algebraic sum of T, and T
m C

to have maximum value of core flux 4.2 mWb.
(B) Phasor sum of I,;, and I,

Calculate the required number of turns in its
(C) Algebirc sum of Iy and I,
primary windings.

L. (D) Phasor sum of I and I;
T 110/220V ZEHHT I I8 FH dlees drel

o 8 110V, SOHz 31 ST =1 Seft 21 R wererer () Question not attempted
T AR AT T 4.2 me;ﬂT%lT%QISH‘eﬁumﬁzﬁ foreft ZramTHT T A1-ele 9T 2-
ST T AT Bl h! AT T TTUHT i) (A) 1, 3T 1, T SSrioredar =
(A) 120 (B) 118 (B) I, 3T I, T HC AN
(©) 150 (D) 220 (C) 1o 31, 1 SfSTrfordt=r T
(E)  Question not attempted / 3TTARE T4 (D) I 3L, BT AT

(E) Igaidwd

41  The No-load/open circuit test performed in a

transformer to determine — 43  In double squirrel cage induction motor, the outer

) Corel cage winding has
ore loss
(A) High inductance
(B) Copper loss
(B) Low resistance
(C) Mechanical loss
(C) High resistance

(D) Both core loss and copper loss o
(D) Very high inductance

E uestion not attempted
® Q P (E)  Question not attempted

A § A1-Are/3A Hiche TliEr I8 faifa et Fecer e e e et ey e
A o ToTT FohalT ST 8 —  aad

() FsA & T

(B)  FICEI (B) @A ufaly

(C)  =ifrer &Il (C) e ufaly

(D)  3rg BT SR FoT a1l 3 (D) ¥Ed 3= el

(E) ogafd s (E) gai@ og

ES5] @ 11 [ Contd...
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The best suited motor to drive 3/4 H.P. air

compressor would be motor.

(A)
(B)
©
(D)
(E)

3/4 T, TR G A TAH & AT g IR
T Hi Brfi

(A) Fufqewr
(B)
(©)
(D)
(E)

Capacitor-start
Single-phase series
Shaded-pole
Resistance split-phase

Question not attempted

Tehel - TTrET 2uft
NECA ]

wfare fordmfed-smareer
AR 94

A 6-pole, 3-phase alternator running at 1000
r.p.m. supplies to an 8-pole, 3-phase induction
motor has a rotor current of frequency 2Hz. The

speed at which the motor operates is -

(A) 960 r.p.m. B) 720r.p.m.
(C) 1000 r.p.m. (D) 750 r.p.m.
(E)  Question not attempted

1000 STT.9T.T7, T IA ITEAT 6-UTA, 3-Uf 3TeaTAIT
8-91e, 3-TST ST Tl I 2 B AN % UK
IR T AT LT 8l T8 7T & Hiet earterd ardr
FaEE-

(A)
()
©
(D)
(E)

960 HRUT.TA,
720 IR GTTH,
1000 ST YT.TH,
750 AR UTTHA,
T 74

E5] @
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47

48

A factory draws an apparent power of 300kV A at
lagging power factor of 0.65. The active power

drawn by the factory is:

Tk Bl 0.65 % ARMT 9Ta Haed T 300kVA Hir
Ty ik Gt 81 et gr ©ieh TS |k w1k @

(A) 285kW (B) 228 kW
(C) 185kW (D) 195kW
(E)  Question not attempted / 3T a9

In a 3 Phase system the line losses are ‘W’ at
power factor of 1. If the power factor becomes

0.8 lagging, the losses will become

3 ol Eed o ITa et | WATSH &g W’ BT 2]
Ife TaX et 0.8 AT &1 ST &, o e & S

(A) 2W (B) 08W
(C) 125W (D) 1.57W
(E)  Question not attempted / 3T T 9q

Flat rate tariff is charged on what basis?
(A)
(B)
©)
(D)
(E)
TAE 12 SR Tohdr TR OX AT STl 22
(A) FAREHAE

(B) @Ud I TS e

(C)  3AToreRdy =i

(D) HiaeS |1 SR @ud o T8 I
(E) qaid 9

Connected Load

Units Consumed

Maximum Demand

Connected Load and Units Consumed

Question not attempted

[ Contd...
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50

Domestic consumers are charged on the basis of:

(A) Flat demand tariff

(B)  Block rate tariff

(C) Flatrate tariff

(D) Off peak tariff

(E)  Question not attempted

LS STHIHTAT | TR o HATET T ek fora
SITAT &

Tee femte 2w
AT 12 2
e 12 2R
T ik 2w
Iaid 9%

(A)
®)
©
(D)
(E)

In which type of fault maximum short-circuit

current occurs?

(A) Three phase faults to ground
(B) Double line fault to ground
(C) Single line fault to ground
(D) Multiple line faults to ground
(E)  Question not attempted

forT TR & 2 T ARIRaT Aie-Aiche e Hied
BT e?

(A)
®)
©
(D)
(E)

PIEC TR RS G L]

TSE W ST TS 3
TS T Uahed WATEH &Y
TS W SE g &Y
AT 74

E5] @
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52

Possible faults that may occur on a transmission

line are
a. 3 phase fault

b. L-L-G fault

¢ L-Lfault

d.  L-G fault

AT 15 WM aTel §9Tfad 3 &
a.  3%sa

b. L-L-G3W

c. L-L3W

d L-G3y

The decreasing order of severity of the fault from

stability point of view is

feerar = gfEeRIvr @ 3w T fierT HT HeaT A B
(A)  a-b-c-d (B) a-d-c-b

(C)  a-c-b-d (D) a-c-d-b

(E)  Question not attempted / SITART T

At starting, the winding of a 230V, 50Hz, split-
phase induction motor have the following

parameters:

Main winding: R=4Q;X; =7.5Q
Starting winding: R=7.5Q; X; =4Q
The current in the main winding is

T U, 230V, 50Hz, el eav Hiet i
Frsfe # frmfaiad Turfiet 2 &:

T AERET R =40Q; X =7.5Q

TEA AT R =7.5 Q; X =40

T TSNS H i 8 |
(A) 115A (B) 22A
C) 9A (D) 27A

(E)  Question not attempted / 3T a9y

[ Contd...



53  Which of the following motors has the largest | 55  The input to an 11000-V, three phase, and star-

starting torque?
connected synchronous motor is 50A. The

(A) Shaded-pole motor

(B)  Split-ph ; effective resistance and synchronous reactance
plit-phase motor

(C)  Capacitor-start motor per phase are 1 Q and 25 Q respectively. The

(D)  Repulsion motor power supplied to the motor is

(E)  Question not attempted

foreaferfae & & e Hrex ot il st et (27 11000-V, I ST 3T TER-FFE fHshI=d A1

T TIC S0A B Wiq e et wfokrg 3R fisee
(A) TSI HIX
©) R Traa shHen: 1Q 3R 25 Q &) A i mgfd &
(©) e B SHaetafE R
(D) foesH AR

(A) 786.05kW  (B) 876.75kW
(E) 3T{afa wa

(C) 809.73kW (D) 38.1kW

54  Which of the following is the normal arrangement

of the armature windings and field poles in a (E)  Question not attempted / A ¥4
three-phase alternator?

(A) Stationary field poles and rotating armature

(B) Stationary armature and rotating field

poles 56 The d.c. armature resistance of a Y-connected

(C) Stationary field poles and stationary alternator measured across its two terminals is

armature
0.5Q. The per phase resistance is

(D) Rotating field poles and rotating armature

(E)  Question not attempted Y-haeE e & &l Al I AT T d.c.
-l ST H AT FH3aT R e aie hl

AT e fAfafaa § @ Ha dt ' 05Q RifaPaufas R
(A)  Teer fiee der 37 gui smi=r
- (A) 05Q (B) 1Q
(B)  feort ST i guia hies dret
(©) &W%‘ﬁa:‘}ﬁ-{&wm (C) 0250 D) 150
(D)  HU $IeE Ui 37T Ui HTH=R
(E) Safaws (E)  Question not attempted / ﬂ@ﬁﬁ?r RE

ES5] @ 14 [ Contd...
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58

What happens to the resultant rotating magnetic
field when the connections to any of the two

phases are interchanged?

(A) There is no magnetic field set up.

(B) It does not rotate.

(C) The direction of rotation is reversed.
(D) The direction of rotation is not reversed.
(E)  Question not attempted

S 3 el H Y Rt Ueh o sheiaeTe 37199 | a5t fqU
ST 8, AT GRoTTHT 9T Seehia &5 o a9 BT &7

(A) IS Jerhrer &t TTfia T e 2
(B) ¥EHHaT e ¢l

(C) Ui T =TT 30 STt 2

(D) =i <t fowm & Setedt

(E) Agaid o=

When the value of the field excitation current is
varied from a low value to the normal value,
which of the following depicts the variation of

the armature current?

(A) TItincreases from zero to normal value

(B) It decreases from normal value to zero

(C) Itdecreases from a large value to minimum
value

(D) Tt increases from a minimum value to a
large value

(E)  Question not attempted

I & IASH IR T HIE FH A9 § G 419 dh

gft@faa T 8, af fefafad § @ & a7 ST

ST o T <l STTdT 27

(A) I8 I © WA A q 96T &
(B) € WTHIT H ¥ X[ T oedT &
(C) F8 IS M ¥ =[TaH 0 a T2l &
(D) I AqH HH ¥ S A qeF gl &
(E) Igaid g%

E5] @
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60

The rating of an alternator is expressed in

I AT T fe & ok ol STl ©

(A) kW (B) hp.

(C) kVA (D) kVAR

(E)  Question not attempted / ST T4

The synchronous reactance of an alternator is

generally than armature resistance.
(A) 5 times smaller

(B) 5 times greater

(C) 10to 100 times greater

(D) 10 times smaller

(E)  Question not attempted

Teh; HTZAS HT T bl oTeh TfaTd ATHT-=Id : STTH=

ygd  waral
(A)  STABIT

(B) STHATSET

(C) 10¥ 100 TAT =T
(D) 10T BT

(E) 3l o2

[ Contd...
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63

The State Information Commission can impose a
maximum penalty of ¥ on the Public

Information Officer.

TS FAT SR Ik GoT ST 9T ATIRdH

EFFE\[H'T?THTITWT%
(A) 5,000 (B) 15,000
(C) 20,000 (D) 25,000
(E)  Question not attempted / 31@?1'?@ Iq

By which amendment the lower age limit of
voters of Union and State legislature was reduced

from 21 years to 18 years?

(A) 57" Amendment

(B) 60" Amendment

(C)  615%Amendment

(D) 65" Amendment

(E)  Question not attempted

Tore wemTe g g 3T U foramee & Aderaret
1 Treref! o1y e 21 99 @ Tt 18 99 F a1 T8
ot ?

(A) 5S7atEsmed (B) 6091 GIMEA
(C) elaiEsMeT (D) 6591 GMe
(E) gaidud

What is the maximum time limit for obtaining
Domicile Certificate under Rajasthan Public
Services Guarantee Act 20117

(A) 03 days (B) 05 days
(C) 07 days (D) 10 days
(E)  Question not attempted

T[STEAT STeh HaTSTT bl TRAT SATIH=H 2011 o d8d
ARIETE THIT U UTH 1 T 3ATIhaq gaar Hiam
FATE?

(A) 03fm B) 05fF
© o7fe @O) 10f=
(E) 3rgaid o

E5] @
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65

66

The potential difference of an energy source that
provides 50 mJ of energy for every micro

coulomb of charge is —

o S B T e S e TS T

% fAT 50 mI ST JeH FAAT R, TR R —

(A) 5V B) 50V

(© 500V (D) 50kV

(E)  Question not attempted / ST F4

One kWh is equal to —
TS kWH T 8 —

(A) 860 kcal (B) 765 kceal

(C) 535 keal (D) 440 kcal

(E)  Question not attempted / 3 a9y

A unit of specific resistance of a conductor is —

(A) Ohm/cm (B) Ohm/cm?
(C) Ohm/cm? (D) Ohm-cm
(E)  Question not attempted

fopeft =meten o fafaTe wfrrer i gors 2 —
(A)  Sm/Ed (B) 3fm/ G2
(C) Tm/ a3 (D) T - ot
(E) orfafaus

[ Contd...



67  Ifthe length of a conductor or wire is doubled and
its area of cross- section is also doubled ,then the

resistance will be —

(A) increase four times
(B) Remain unchanged
(C) Decrease to four times
(D) Change at random

(E)  Question not attempted

At foreft =TeTeh =1 AT ohl SelTS QT oht & ST oIt
ST AT HIE T &Athet H T K e S,
ar iferRre g -

(A) =T T
(B) uftafda &m

(C) =TTHT qe =2 ST

(D) ISH=a® ¥I H & SI@T
() Agaid g

68  InaN-type channel, Vgg=0and Vpg is increased,

which of the following does not happen?
(A) Depletion region increases

(B) Decrease in drain current

(C) Ipreaches a limited value

(D) Depletion region decreases

(E)  Question not attempted

N-W%%:lﬁff, VGS =0 aﬁ—{VDS W@’HT%,
Tt o & o Tt B 22

(A) ITTHT &F FEar s

(B) IAHEH FH

(C) T Hiftrd /I T ug=dr &
(D) TIT & T2l &

(E) a1
E5|1 @
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70

The Avalanche effect takes place, in which of the

following regions of operation of a transistor?
(A) Saturation

(B) Cut-Off

(C) Breakdown

(D) Active

(E)  Question not attempted

S S, %

ffaRaa &t 5 & fora g 82
() gt

(B) he-3%

(C) SR

(D) ufsa

(E) 3qaid o

In a common emitter NPN circuit, which of the
following represents the phase relation between

the input and output signal?

Tk AT 3cdsieh (T ) NPN Hifche H, Fmfetfiaa
Y S §IYC SR AL e o ot o defer i
LIS,

(A) 0° (B) 90°
(C) 180° (D) 270°

(E)  Question not attempted / 3T e

[ Contd...
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The power efficiency of a centre-tapped
secondary full wave rectifier is: (Choose the most

appropriate option from below)

YA Hohell B Id UoeHRIL il Ta Z&dT 2

(1 5 & T 3ugh forehed 94)

(A)  48% B) 57%

©) 77% (D) 81%

(E)  Question not attempted / STTATT T4

For a germanium transistor, which of the
following is not a sufficient magnitude of Vpp to

provide the necessary forward emitter-base bias?

srfem gifseet & fore, freafafga g @ i ar vy
ST GTATT ST AT Icdsish o ST Y4 hid
o foTT aarte =1 22

(A) V=07V

(B) 0.7V >Vgg>0.2V

(C) V<02V

(D) Vpp>0.7V

(E)  Question not attempted / ?ﬂﬁﬁﬁ Tq

E5] @
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74

In which of the following texts of ancient India

do we find reference to the “Matsya”
mahajanapada?

(A) Rig Veda

(B) SamaVeda

(C) Yajur Veda

(D) AtharvaVeda

(E)  Question not attempted

T 9T o FHHfad 5 9 fore I o & <aee
TRISHYE 1 we forerar 82

(A) FHET (B) ©Hag

(C) IER (D) 3H¥dag

(E) Ffdita o=

Khejari tree has economic and cultural association
with Rajasthan. This is because:

Statement I: It fixes nitrogen and makes the soil
fertile.

Statement II: Its twigs are worshipped as a
symbol of Sri Krishna on Janmashtami.

Choose the most appropriate option from below:

(A) Both Statement I and Statement II are true.

(B) Both Statement 1 and Statement II are
false.

(C) Statement I is true but Statement II is false.

(D) Statement I is false but Statement II is true.

(E)  Question not attempted

TSI o U T TSTEIH o GTY AT 7 Hitapfah
HreRY 2| UHT SHITT @ Fifeh:

HYT I: T AT52IS I fRor wtar & K gt =i
IS, SHTAT 2

HYA [1: ST TEHAT I SFHTSHT T 3T FO07
ST o &9 § I ST 8

1 4 & e 3uh forsheq

(A) T 1 ST HAA 11 3T T 2

(B) U I 3T e 11 SHT 319 2

(C) YT 1Y T, AfKT I 11 36 2
(D) &Y [ 3TE B, ATk Y 1 9T 2
(E) a9

[ Contd...



75 Bappa Rawal was the ruler of which famous | 77  Who led the Mughal forces in the Battle of

dynasty? Haldighati?

(A) Chauhans (B) Rathores (A)  Rana Sanga

B) Man Singh I
(C)  Guhilas (D) Bhati (B) Man Sing

(C) Rao Jaimal
(E)  Question not attempted
(D) Patta Sisodiya

T T Tore Tfeg, TSTaeT T S o 2
(E)  Question not attempted

(®y e ®) W T 3 e T 6 T e 1
©) Tfes (D) W (A) TOmE
(E) qaRdys (B) wWHRiEI
(C) TISIHA
76  Amber Fort built by the Kachhawaha Raja Man (D) e freife
Singh in 1592 is an architectural blend of: (B) aﬂﬂﬁﬁ Tq
(A) Islamic, Persian and Indian Style
(B)  Persian and Mughal Style 78  Forts which are surrounded by water are called:

(C) Roman and Belgian Style (A)  Van Durg

B) Paridh Dur
(D) Hindu and Mughal Style ®) &

(C) Auduk Durg
(E)  Question not attempted
(D) Sainya Durg
FHoSaTel TS M 48 81T 1592 # it A fera

(E)  Question not attempted

frefefiaa =1 ok areqfed s 2:
3 feret ST uTit & FoR 2 €, heaTd
(A) FEATHY, BHRET ST TR St
(A) gl
(B)  WITHT ST HITe 2eft ®) ezt
(D) feig ¥ 3 et D) =gt
(E) orafa g (E) ¥gafd g
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80

In order to safeguard Jaipur from Maratha

incursions which fort was built by Sawai Jai

Singh?

(A) Jaigarh Fort

(B) Nahargarh Fort

(C)  Bhangarh Fort

(D) Taragarh (Ajmer)

(E)  Question not attempted
ST R HIST SATSRAUT & e e % fore ward
SRIfEE 3 I T e sam o2
(A)  STTg fehett

(B) HTeuTg fehet

(C) W fepetr

(D) ARITE (IITHT)

(E) AgaRdue

Under which section of the Act, State of Rajasthan

was formed?

(A) Section- 04 (B) Section-05
(C) Section-10 (D)  Section-09
(E)  Question not attempted

Affaer i forg g o STarid TeTEe™ UsT &1 T8
IERIRIEIV

(A) HrI-04 (B) 9WI-05
(C) 4m-10 (D) gmI-09
(E) Igaiayq

E5] @
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82

Which of the following areas of Rajasthan are
located on the India-Pakistan international

border?

Choose the most appropriate answer from the

following options.

(A) Hanumangarh, Jodhpur, Barmer and Sirohi

(B) Pali, Sirohi, Jodhpur and Dungarpur

(C) Udaipur, Churu, Jaisalmer and Banswara

(D) Sri Ganganagar, Bikaner, Jaisalmer and
Barmer

(E)  Question not attempted

TeRYE & FHEfafed § § &9 a7 &9 9Ra-

UTfepEdT S efar ox feorg 22

frrferfiaa forspedt 3 & Tt 3w 3T |

(A) BIATHTE, STETE, STEHT 3T fettet

(B) T, oI, STage 3 gRyT

(C©) ST, IF, SIAT IR FTEare!

(D) *ff TR, SfiehTe, SEetmt 3T TSt

(E) a0

Arrange the following States in the order of the
given directions with reference to Rajasthan:
North- East, South-East, South-West and East

a. Madhya Pradesh

b. Gujarat

c. Haryana

d. Uttar Pradesh

TSTET o we H freforfad st s faw e femai
% A H SAARYT &

I, 3feFoT-gd, aferor-ufzm S g
a. T I
b. T
c. BT
d. WIS
Choose the most appropriate option from below:
Frerferfia e § & Terd S S
(A) b,c,d,a (B) c,ab,d
(C) a,c,db (D) d,b,c,a
(E)  Question not attempted / ﬂ@ﬁﬁﬁ 94
[ Contd...
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Which of the following rivers originates from the
Bairath hills of Jaipur Region?
Choose the most appropriate answer from the

following options:

(A) Kali Sindh River

(B) Parvati River

(C) Mej River

(D) Banganga River

(E)  Question not attempted

freaferfaa & & s o 7t ST & i 3s weTfet
 frererdt 22

frmfafiaa faeredl § & Fed 39w 3¢ T:
(A) et foer 7t

(B) a4t

(C) BT

(D)  STOFT et

(E) 3rgafd 9

Which type of climate is found in the south
castern part of Rajasthan? (Choose the most

appropriate option from below)

(A) Arid and Semi-Arid

(B)  Sub-Humid

(C) Humid

(D) Most Humid

(E)  Question not attempted

TSTET o SfaTuT O AT 4 fofdt STehTe 2hl Steray urs
et 27 (e & e S e )
(A) T 3R 7

(B) Y-

(€) 3

(D) wdifereR 378

(E) Igaid g

E5] @
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86

soil develops over the granite, gneiss
and quartzite of the pre-cambarian period .This
soil is less productive and found in the eastern
part of Aravalis. It is suitable for growing maize,
millets, pulses and oil seeds. (Choose the most

appropriate option from below)

(A) Alluvial

(B) Desert

(C) Red and Black

(D) Black and Regur

(E)  Question not attempted

Y fi-FrafET w1 & Ja18e, 189 31T
FaTesTEe W foewtad 2t 21 78 figh 7 Scures §
I STErT o &l W 3 o7 STt 81 e HaFehT, TSI,
et S forete S & fore Suh @) (e 6 & wed

SR fershed )
(A) %

(B) et

(C) ATl TR Hredt
(D) et 3T
(E) 3{aild 9

Which type of forests are found in the northern

and eastern slopes of the Aravali mountain range?

Choose the most appropriate answer from the

following options:

(A) Tropical thorn forest

(B) Tropical dry deciduous forest
(C)  Sub-tropical mountain forest
(D) Temperate forest

(E)  Question not attempted

FUEC T&d H@e & I R G st 7 fore
T 3 I T SITd 82

frmferiiaa forspedt 3 & gerd 3w S T4:
(A) SRS HILR o
(B)  IUTshiesieT grseh wofdTelt I
(C)  U-IWTHTESET g™
(D) ffarr
(E) gaid o
[ Contd...
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Which of the following project has brought

change in the ecology of Western desert region of

Rajasthan?
(A) Bisalpur Project

(B) Damodar Valley Project

(C) Indira Gandhi Canal Project
(D) Hira Kund Project

(E)  Question not attempted

e O forer ITGIIST o TS o afart T
& shT qTiRefaehl & sreets T 22
(A)  SEAR grEISAT

(B)  gmHIeT g1t ufsHT

(C) e ieht TeT afESHT

(D) BRI e gfeisHT

(E) 3{iid o

Which of the following wildlife sanctuary is

situated in Dholpur region of Rajasthan?

(A) Ramgarh Vishdhari

(B) Ramsagar

(C) Chambal National Crocodile Sanctuary
(D) Tal Chhapar

(E)  Question not attempted
FTTRE o § & 91 a=ISie SAARe TSTe™ &
eTeTqE & 7 ferd 27

(A) TG forwemd

(B) THETR

(C) < TSI HTH= TR0

(D) qTA B

(E) orfafaus

E5] @
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90

Drought is a condition which is the result of high
variability in annual rain fall accompanied by:

(Choose the most appropriate option from below)

(A) large volume of water
(B) water shortage

(C) high yield of coarse grain
(D) low yield of fodder

(E)  Question not attempted

ar uF T ffa @ S A a9t § s=
ftardetierar 1 aiorH &, feres ary feiferd grar
B (P 5 & wad 3w oo )

(A) O T S AT
(B) Ul & T

(©)
(D)
(E)

HIS TS shl oo 3T
I Y HH U
TN 9

In which of the following region of Rajasthan

rice does not grow?

(A) Ganganagar

(B) Jaisalmer

(C) Hanumangarh

(D) Kota

(E)  Question not attempted

TerEuTe & ffefiaa 8 9 forg & o =t i 3ar
22

(A) TR (B) SR
(C) TIHMTG (D) =M
(E) gaid 9
[ Contd...
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A broadcasting station transmits on a wavelength
of 3000m. A capacitor of 0.0005 pF is connected
in parallel to a variable inductor to form a closed
oscillating circuit. The approximate value of
inductor that must be adjusted in order to tune

into the particular station is

Teh TERUT €I 3000 HIeT T qTee 98 Har aheaT

210.0005 wF =T Tsh GHTIE Tk 5 Sl Hithe S

o ToTQ U Uitard 1T SIteh o FTia shH 1 ST g

1 I 1 ST A o fore T 7 st

(&) F % fore wamnfer foram S =fen % 2
|

(A) 3mH (B) 5mH
(©) 7mH (D) 9mH
(E)  Question not attempted / C‘Flo:ﬁllia Tq

In a circuit, a resistance (R), a pure inductance
(L), and a capacitance (C) are connected in
parallel across a sinusoidal voltage source of V
volt. The circuit current will lead the applied

voltage if

T 91 5, T e (R), T 76 e (L), 3R
Teh 97T (C), V diee & SATshi dlees |id o
IR HHMI H S §U &) TRaY 910 JITw dlees
¥ sfe gt afe

(A) Ic<Ip

B) Ic=I

© Ic>I

D) T =15x%xI¢

(E)  Question not attempted / 3ﬂ?|ﬁﬁ Iq

E5] @
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94

95

If a 50 Hz sinusoidal voltage having an rms value
of V volt is applied to a capacitance of C farad,
the current in the circuit, with the applied voltage

as the reference phasor, is given by

Ife V a2 % rms A 1T 50 Hz SATEHT dleest
C Sre T eTfar 9T T Sdr 2, 9F 9w § G,
Ha BT o F H A dlees & a1, e Jerr
STt &

(A) jVoC B) —VoC
(C) jVieC (D) V/joC
(E)  Question not attempted / 3T aug

A parallel circuit has R = 1kQ, C= 50puF and

L = 10mH. The quality factor at resonance is

T UM |@fhe H R = 1kQ, C= 50pF 3R

L = 10mH 2 3fTe 9 Q-T0Tish 2
(A) 100 (B) 90.86

(©) 70.70 (D) 78.76

(E)  Question not attempted / 3133?1'?(?[ Iq

The form factor of an alternating quantity is given

by

average value average value

(A) rms value (B) maximum value
©  eragevaiie © T valie
(E)  Question not attempted

ek TeaTad T Ti3T T B Heet 39 Yehr faam ST @
(A) Sd HH / ARTHTH HH

(B) 37\d A / SAferehad A

(C) TRUHTH HH / 376d HHE

(D) SRUHTH HH / JAfehad A

(E)  3fmild o2
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In the given circuit, what is the value of unknown
resistor R, if the voltmeter read 4V and its

resistance is 10 k Q) :

fow T uftaer #, srgra Wi R 19 TR, I

AceHIT 4V UedT & I HH I 10 kQ 2
R 10 kQ
— AW O
av

[

120V
(A) 290kQ (B) 280kQ
(C) 270kQ (D) 260k
(E)  Question not attempted / aﬂ?lﬁ?f LE)

A dc voltmeter is having the voltage range of 0 to
10 volts. An internal resistance of meter is
400Q. Which of the following is the current
required to cause the full scale deflection; if

200k QQ multiplier is used?

T Lt At § 0 § 10 Jiee H Fiees I 2
e =T AT Tialrd 400 Q 21 I 200k Q ok
T YA TohAT ST €, 1 90T JAT oF foraoor Seqe
FT o ToIw ot 5 & i ot oy T STrarsreRar 2 e

(A) 488 pA (B) 48.83mA
(C) 499 pA (D) 499 mA
(E)  Question not attempted / Ha?lﬁ_cf Iq

E5] @
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98

99

100

If rise time of input amplifier is 10 nsec and the
observed rise time on CRO is 15 nsec, then the

appropriate rise time of the signal is

(A) 10nsec (B) 11.18 nsec
(C) 15nsec (D) 18.02 nsec
(E)  Question not attempted

e FTIE TFICTHRR T 38T T 10 nsec & 3R
CRO T 37T [ohaT T 387 | 15 nsec &, AT

foret =1 IwIh 37 W 2

(A) 10nsec (B) 11.18 nsec
(C) 15nsec (D) 18.02 nsec
(E)  Question not attempted / ﬂiﬂﬁﬁ Iq

In a two wattmeter method of measuring power
in a three-phase circuit, the two wattmeters will
show equal readings when the power factor angle

@ 1is equal to

AH-UT Gfehe | rfeh #4199 T Sr-aredie fafar 7, &
reHier seT GfEm femmn S grew St I ¢
T BT

(A) 90° B) 60°
(C) 30° (D) o0°
(E)  Question not attempted / 3T aay

An energy-meter having a meter constant of 1200
revolutions per kWh is found to make 5

revolutions in 75 sec. The load power is

Teh Foll-Hiet fsresht #iet et 1200 =rerrt gfd
fohettae HeT 2, 75 Hehe H 5 =aeht THITT g7 Ul

TMRISEIRTRE R

(A) 500 W (B) 100W

(C) 200W (D) 1000 W

(E)  Question not attempted / SITART T4
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101 The power of a heater is 500 W at 800 °C . What
will be its power at 200 °C if temperature

coefficient of resistance is 4 x 107 /°C ?

800°C IX Tk 1T <t 71tk 500 W 21 IfS gfedrer s
ATOHI T 4 x 1074/ °C 2, dF 200 °C T 3Hh!

S1feh T Brft?

(A) 611W

(B) 672W
(C) 526W
(D) 620 W

(E)  Question not attempted / 31':5'&?[ el

102 In the given figure, find the value of current I
& TS SATR(T F G [ I HHE J1d 1T
2A 1A
2A 1.3A
I

(A) 1.7A

B) 37A

© 13A

D) 27A

(E)  Question not attempted / 34333'&?[ Iq
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103 If the resistance of wire is 2 Q2 , then conductance
of wire is
I IR H g 2Q &, qT AR F AT
2
(A) 0.1 mho
(B) 0.3 mho
(C) 0.4 mho
(D) 0.5mho
(E)  Question not attempted / P:ﬂﬁ'ﬁ_cr Tq
104 Ina given figure, the potential difference between
point A and B is
& 8 smgh &, fig A ofit B % o Frmie
2
A 3A 60 8V 30 6V B
——— W = MWW—

(A) 12V

(B) 24V

(C) 29V

(D) 18V

(E)  Question not attempted / ST aug

[ Contd...



105 An ideal voltage source should have
(A) Zero internal resistance
(B) Infinite internal resistance
(C) Large value of emf
(D) Low value of current
(E)  Question not attempted
Teh AR dlees G § ISl
(A) I i gfay
(B) ¥ Afaies gfatrer
(C) STHTS &I &< 9H
(D) T kT H 41
(E) 3rafd 9
106 Nodal Analysis is based on

(A)  Kirchhoff’s current law
(B)  Kirchhoff’s voltage law
(C) Ohm’s law

(D) Maxwell’s law

(E)  Question not attempted
TedAfasgmor  wemaia R
(A) TR =1 am fem
(B) =T &t et fom
(C) g frEm

(D) BeFad @ fam

(E) SFfaiaud

E5] @
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107 A circular coil expands radially in a region of

108

magnetic field and no electromotive force is

produced in the coil. This can be because

(A) the magnetic field is constant

(B) the magnetic field is in the same plane as
the circular coil and it may or may not vary

(C) the magnetic field has a perpendicular (to
the plane of the coil) component whose
magnitude is increasing suitably.

(D) there is a constant magnetic field in the
perpendicular (to the plane of the coil)
direction.

(E)  Question not attempted

Teh TN HScll el &1 o & 1 (Sqel &9 9
Therd! € S HSell § s [ogd =Teieh 9ol Sca=F Tel
BTl 8 THT SHTT &1 Hehal & Fifh

(A)  TuhE e e

(B) eI & MATHR Feelt & 90 a § 2
R 7 T & ot waam @ ST ot
HhT & H TF dedd (Feell F ad W)
e BT & SEeR! aieT 3fed &9 § ¢ @1
2l

woed (Feell % a8 W) fewm § ww fer
RECIRESERCIN

I RRICRE]

©

(D)

(E)

High permeability magnetic material helps

(A)

to confine the flux within the magnetic

circuit
(B) to allow the flux to leak
(C) in producing more current
(D) in producing more voltage
(E)  Question not attempted

(A) bR gfy & Widt ARETE (FI) H
Hifera & |

(B) SAN@EEH A eI H

(C)  fersh g A FA |

(D) AP e ST HH A

(E) qaid 9
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In a magnetic circuit, once a flux is setup

(A) no further energy is required

(B) energy is continuously required to maintain
the flux

(C) energy is released in the form of heat

(D) energy is released in the form of light

(E)  Question not attempted

e T T, Teh SR HAETE TiUa 81 S W)

(A) ot srfafes ot <l STTawIehar &1 &rdt

(B) ANETE (FT9) T AT W & fow fat
STl T STTEvHAT Bt &

(C) Sl FHT & &9 H 0 &l &

(D) S TR o 9 7 T Bt &

(E) Fdita g%

The combined inductance of two coils connected
in series is 1.2 H or 0.2 H, depending on the
relative directions of the currents in the coils. If
one of the coil, when isolated, has a self-

inductance of 0.4 H, the value of mutual

inductance will be

AUTsRH H (ST a1 Fforal 1 6k Wehed 1.2 HAT
0.2 H 2, St heferlil o st 3t arver fesmetl ot
e et 21 9l T heet I T FH W IHH
WIGhed 0.4 H 2, @ AT Wehed & AN

=)
(A) 1.0H (B) 14H
(C) 025H (D) 04H
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

E5] @
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111

112

Which of the following breed of cow is called

‘Kamdhenu of Rajasthan’?

(A) Rathi (B) Kankrej
(C) Sanchori (D) Jersey
(E)  Question not attempted

frefafad 9 9 forg T5a 1 T B TSEIE i
T HET ST 8?2

(A) T3t (B) Wi
(C) W= (D)
(E) a9

The multipurpose project across river Chambal
designed to generate electricity (MW) to control
floods and provide irrigation water to surrounding
agricultural land in Rajasthan, lies to the North of
Gandhi Sagar Project. It is named as: (Choose
the most appropriate option from below)

(A) Ganga Sagar dam

(B) Jawahar Sagar dam
(C) Rana Pratap Sagar dam
(D) Rampad Sagar dam
(E)  Question not attempted

T a1 W TZILNMT TS, T H A1G bl
i et straaTe <t Y oy =t fe=g 6 o
IqTs A o o forstedt (MW) 31 & o feTg
fesmeT 1 18 2, St iielt WER ofeeET % I A
feord 81 sqet T 2 (FF1 9 § wod 3ugh faehed

)

(A) T EER &7

(B) ST HTR 79
(C) I Y9 9FR «1eT
(D) THYS G ST
(E) orgafau
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Which of the following canals irrigate the Sri
Ganganagar region of Rajasthan? (Choose the

most appropriate option from below)

(A) Indira Gandhi Canal
(B) Gang Canal

(C) Bharatpur Canal

(D) Hanumangarh Canal
(E)  Question not attempted

Frtafaa & @ o € Ter asE™ F St T e
hl fi=s et 22 (e 3 8 el 39k farehed <)

(A) e it Tet
(B) T
(C) WA TET

(D) TIHNTG &
(E) rfaia g

Which of the following is the longest river
entirely flowing in Rajasthan? (Choose the most

appropriate option from below)

(A) Luni (B) Banas
(C) Banganga (D) Chambal
(E)  Question not attempted

frefafaa o & i € 72 Frqeia: Toe™ § ae
Tt Ty weft Adt 82 (e # & wee 3wk fareed
)

(A) <t (B) o™
(C) SormET (D) =&t
(E) a9

E5] @
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115

116

The Head-quarters of the North-Western zone of

Indian Railways is situated in:

(A) New Delhi

(B) Jaipur

(C©) Mumbai

(D) Allahabad

(E)  Question not attempted

RS Yd o ST Hedl &l qearerd el
feera &9

(A) % faeett
(B) AT
©) %
ERIEIG

(D)

(E) gaid 9

The Rajasthan State Petroleum Corporation

Limited has been constituted in which year?

T s eiferay fm fafiree & e frg ad
e T2

(A) 2000 (B) 2004
(C) 2006 (D) 2008
(E)  Question not attempted / 3 aug

[ Contd...



117 Which amendment dealt with Urban local bodies

118

or Nagarpalikas’?

(A) 72" Amendment
(B) 73" Amendment
(C) 74" Amendment
(D) 75" Amendment
(E)  Question not attempted

I GT G e TR et a1 et
g geifera am

(A)  72af €3meA
(B) 733t EMEA
(C) 74t €3me
(D) 7591 GENEE
(E) 3rgaid 9

Which Schedule was added to the Constitution

by the 74" Constitutional Amendment Act?

(A) 12t (B) 1ot
(C) 8th (D) 5th
(E)  Question not attempted

743 Gfge g At gry wiaam & o |
A TS

(A) 124 (B) 104t
(C) &t (D) 54t
(E) gaid o=

E5] @
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119

120

According to which Article of Constitution of
India, the Chief Minister is appointed by the

Governor of a state?

(A) Article-166

(B) Article-165
(C) Article-164
(D) Article-163
(E)  Question not attempted

W o i o fore 3rgese o ATER, Feat

1 it 7= o ST GRS ST 22
(A) 3FTo8E-166
(B) 3FT=ee-165
(C) 3FT=e-164
(D) STT=R-163
(E) gaid 9

According to the Human Rights (Amendment)
Act 2006, what is the number of members of

Rajasthan State Human Rights Commission?

AHATHR (H¥eH) AT 2006 & STTER
TSIE TST HHEATIIRT ST & HS&0T hl G
forat 22

(A) 2 B) 3
© 5 (D) 7
(E)  Question not attempted / ﬂ@ﬁﬁ?r 99
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SPACE FOR ROUGH WORK / T% & o feTu Lo

IR T | &l WA & - e Fir 3 ety S, ot S ox ottt et Sie ¥ U6 qiarel o8 e ohi a1 Siaar
afteren <kt €T, wtereff wert foeter ufd <t STem et ol | sereh g 3T e ol qet Wid ol 319 urd ST 3R, Tt
il <1 9t Ui & e ATST U A1 L M Yeieh ST T qlieelT shi @i | wltemeff fedta wfa =t svoq aror ot
SR |
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